v REHE
(7)

IRFEHE [R5

H3OR# £

_ 5% FER=314 /T EX=305F & SERDBE (F29FE
I - -
AH 2| 2 e =
F &% m fE HEEEE g F & | RIRE HiExE
X P4 (F) (a) (M) (M) () (kg) (M)
th s R 3,266 104,963.2 4,084, 260, 000 56, 403, 445] — — —
3,985 133,727.2| 4,939, 430, 000 48, 718, 024 467| 608, 413| 93, 151, 880
_ 662 12, 960. 7 388, 380, 000 8,428,600 — — —
j b . b b b b
M7 NI RZ 924 19, 694. 6 607, 704, 000 7,953, 522 38 25,569 3,488, 070
L 245 5, 888. 0 219, 940, 000 3,916, 0521 — — —
H 286 7,209. 7 286, 980, 000 3, 078, 287 46 87,343 8,852, 240
P 4,173 123,811.9| 4, 692, 580, 000 68,748,097 — — —
= A 5,195| 160, 631.5| 5,834, 114, 000 59, 749, 833 551 721, 325| 105, 492, 190
5 = o - o o H29
z 774] 1, 143, 597| 195, 900, 820
XA 80. 3% 77. 1% 80. 4% 115.1%)  71.2% 63. 1% 53. 8%
(7)—a UNESE [5ES] _
_ 51%: FER=315E/ THR=30F% SERDEEF29FE
I =2 =
HE 2| 2 o =
F &% m & HiEEE gz F % | RRE HiExE
X T4 (F) (a) (M) (M) () (kg) (M)
th R B 1, 962 63,810.2| 2,686, 100, 000 31,633,104] — — —
2, 260 75, 044. 5| 2,993, 496, 000 24,191, 413 356 492, 131| 82,034, 790
S 210 3, 466. 1 140, 460, 000 1,932,509 — — —
253 4, 200. 9 152, 374, 000 1, 847, 076 23 17,426| 2,482,410
S E 118 2,567.0 115, 310, 000 1,990,575 — — —
H 130 2,825.0 125, 317, 000 1, 698, 165 16 20,612 5,596, 500
P 2, 290 69,843.3| 2,941, 870, 000 35, 556, 188] — — —
= A 2,643 82,070.4| 3,271, 187, 000 27, 736, 654 395| 530, 169| 90, 113, 700
H29
% — _ _ _
il 516| 873, 247| 167, 403, 870
SR LE 86. 6% 85. 1% 89. 9% 128. 2%  76.6% 60. 7% 53. 8%




H3OR# £

(7)—b UN#EEE [+ 4] B
_ 51%: EER=315E/ THR=30F% SEMDWEF29FE
I = -
ol el % " =
F % m & HELEE ks F % | BRE HES
X% (F) (a) (M) (M) (F) (kg) (M)
th o 37 1,015 35,352. 7| 1,269, 330, 000 18,054,588 — — —
1, 346 50,601. 1| 1,766, 543, 000 17, 475, 930 65 61,622| 6,375,800
_ 208 5, 069. 4 147, 530, 000 1,681,547] — — —
M7 NI AR 328 8,320.9 306, 174, 000 943, 406 5 4,933 672, 500
P 73 2,411. 4 86, 060, 000 949, 415] — — —
AL AR SRR 90 3,151.2 133, 567, 000 717, 623 1 1,197 214, 500
A = 1, 296 42,833.5 1,502,920, 000 20, 685, 550} — — —
= A 1, 764 62,073.2| 2,206, 284, 000 19, 136, 959 71 67,052| 7,262, 800
5 = _ _ _ H29
= 80 93,581| 9,147, 480
XA 73. 5% 69. 0% 68. 1% 108.1%]  88.8% 71. 7% 79. 4%
(7)—c W#EAF [T34H]
_ 5% EER=314 i/ TER=30F % SERMDWE (L29FFE
I = ==
HE 2| 2 o =
F # m f& HFELE EE: F & | BRE HES
X4 (F) (a) (M) (M) (F) (kg) (M)
_ 239 4,758.3 103, 910, 000 6,105,213 — — —
PR 330 7, 046. 6 159, 021, 000 6, 551, 616 15 11,368 1,329, 090
R — 244 4,425.2 100, 390, 000 4,814,544 — — —
343 7,172.8 149, 156, 000 5, 163, 040 10 3,910 333, 160
e = 17 215.0 4, 390, 000 272,653 — — —
AL =R P 24 359. 8 9, 475, 000 332, 893 1 349 48, 300
A = 500 9, 398. 5 208, 690, 000 11,192,410 — — —
= 8 697 14, 579. 2 317, 652, 000 12, 047, 549 26 15,627 1,710,550
129
% — — — —
il 143| 115,591 14,527, 800
SR LE 71. 7% 64. 5% 65. 7% 92.9% 18.2% 13.5% 11.8%




(7)—d IEEEYAC]

H3OR# £

_ 5% FER=314 /T EX=305F & SERDBE (F29FE
1 - e
LIz el = " =
F &% m & HFEEEE B & F & | RIRE #ESE
X% () (a) (F4) (F9) (F7) (kg) (F9)
- 0 0 0 of — — —
R T 0 0 0 0
L 36 676. 6 13, 890, 000 696, 304] — — —
" 41 855. 7 18, 401, 000 324,216 28| 65,185| 2,992, 940
A o 36 676. 6 13, 890, 000 696, 304] — — —
= 41 855. 7 18, 401, 000 324,216 28| 65,185| 2,992, 940
5 = o - o o H29
= 10| 27,753 1,637,570
R4 EE 87. 8% 79. 1% 75. 5% 214.8%| 280.0%|  234.9% 182. 8%
(7)—e WH#ESE [HE] _
_ 51%: FER=315E/ THR=30F% SERDEEF29FE
I - -
RH 3l 7 " =
F &% m & HEREE B € F % | RRE #ESE
X% (F) (a) (F4) (F4) (F) (kg) (F9)
- 50 1,042. 0 24, 920, 000 610,540 — — —
PRI 49 1,035.0 20, 370, 000 499, 065 31| 43,292| 3,412,200
e 1 18.0 290, 000 7,105 — — —
ALESZFR 1 18.0 220, 000 5, 390 0 0 0
- 51 1, 060. 0 25, 210, 000 617,645 — — —
= 8 50 1,053. 0 20, 590, 000 504, 455 31| 43,292| 3,412,200
H29
& — — _ _
% 25| 33,425| 3,184,100
AT | 102. 0% 100. 7% 122. 4% 122. 4% 124.0%  129.5% 107. 2%




